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GUJARAT TECHNOLOGICAL UNIVERSITY

Subject Name: Production Planning

Time: 10:30 am - 01:00 pm

Instructions:
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(b)

(b)

(a)

(b)

(a)

(b)

1. Attempt all questions.

2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.

4. English version is considered to be Authentic.

Explain function of production planning

Explain advantage of scientific lay out.

Explain importance of humidity in textile industry.
OR

Explain central station type humidification plant

Calculate no of loom and sizing m/c required for production of 45000 yards of
shirting fabric per day. Assume suitable data.

OR
Calculate no of warping m/c and winding mc required for production of 4000
kgs of warping beam per shift. Assume sutable data.

Calculate no of ring frame and speed frame spindle required for production of
2500 kgs of 30° carded yarn per day. Assume suitable data.

OR
Calculate no of draw frame and carding m/c required for production of 3000
kgs of draw sliver per day. Assume suitable data.

Draw lay out for following
1.Arrangement of 4 winding m/c
2.Arrangement of 2 sizing m/c
Calculate time required to exaust one ring bobbin on winding m/c from the
following data.
Wt of yarn on bobbin=55 gram, count=50 Ne,
speed of winding =1200 ypm, Efficiency=75%
OR
Draw lay out for following
1. Arrangement of 10 carding m/c
2.Arrangement of 10 ring frame m/c
Calculate time required to exaust one card sliver can on draw frame from the
following data.
Wt of sliver in can=10kgs, hank of sliver=0.15,
speed of draw frame m/c=550 ypm, Efficiency=75%
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